Non-AP Calculus 4-2. 4-6 Quiz Review Worksheet #2
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1) Find the Sum Z —_—

) 2% — 3k?

k=3
. ) . 2 3 4 8
2) Use Sigma Notation to write the sum + +
2-3 2—9 2-27 2—2187

3) Use properties of summation to evaluate the sum:

i 2(i —1)?

4) Use Left, Middle, and Right endpoints to find approximations of area of region between the
graph and the x-axis: f(x) =1+ 3x? ininterval [1,5] using.3 rectangles

a) Left endpoint (LRAM):

b) Right Endpoint(RRAM):

¢) Middle rectangle (MRAM):



5) Selected values of a function, £, are given in the table below:

x | 1 8 12 15 19 22
f(x) 2 3 7 11 19 8 1 5
a) Give the middle approximation with 2 subintervals for fon the interval [1, 22]
X 1 2 5 8 12 15 19 22
f(x) 2 3 7 11 19 8 1 5
b) Use right-handed rectangles to approximate the area with 3 subintervals for f on the interval
(2, 19]
X 5 8 12 15 19 22
f(x) 2 3 7 11 19 8 1 5
¢) Use left-handed rectangles to approximate the area with 4 subintervals for f on the interval
[7,19]
X 2 8 12 15 19 22
flx) | 2 3 7 11 19 g | 1 5

d) Use trapezoids to approximate the area with 3 subintervals for fon the interval [5, 22]
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3) Use properties of summation to evaluate the sum:
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4) Use Left, Middle, and Right endpoints to find approximations of area of region between the
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5) Selected values of a function, /, are given in the table below:

o r —r M
7 X 1 2 5 7 8 12 15 19 22
;, f(x) 2 3 7 4 11 19 1 5
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é) Give the middle approximation with 2 subintervals for f on the interval [1, 22]

A= 75N+ JH4015) | = 49+11%
=2(72) +14(¥) =[]

b) Use right-handed rectangles to approximate the area with 3 subintervals for f on the interval
(2, 19]

A5 4(7)+ 5 8012)+ 74019 - 26+%54 2
SO(hy sin) v 7y =[122]

c) Use left-handed rectangles to approximate the area with 4 subintervals for f on the interval
[7,19]

Az [ 4F)+ 4 4(8) « 3402)+ 4. £015)
=4+ 4+ 3011) + acp) =137

d) Use trapezoids to approximate the area with 3 subintervals for fon the interval [5, 22]
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